Chemistry 116: General Chemistry
Syracuse University Project Advance

Questions chapters 21 + 25, Spring 2020
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DIRECTIONS:  You may print out these questions and anwer in the space provided  OR  clearly write out the answers on another piece of paper.  Be sure to SHOW ALL WORK for credit to be awarded. Watch your units.
When done submit the exam to our Google Classroom in a similar fashion as you have done with other assignments.  This is a timed evauluation and submissions must be submitted PRIOR to the end time to be accepted.

You may use a cheat sheet as well as the reference table in the cover of your textbook.

1) Write out the equation for the alpha decay of 
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2) Strontium-83 has a half life of 16 hours. What fraction of a 10 mg sample of 83Sr will be left after 80 hours?
3) Name the product formed in   
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4) Write the equation, and identify the type of emission for the decay of 
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5) How many neutrons does 
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 have?  Explain the calculation.
6) The half-life of the radioisotope 
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 is 1.0 h.  How long would it take for a 320.0-g sample to decay such that only 1.25 g of this isotope remains?

7) Write the complete equation for when 
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 is bombarded with one neutron and fission occurs.  The products are two neutrons, 
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, and ___?

8) What is the approximate age of an artifact found by an archeologist which has a current activity due to carbon-14 of 4.14 counts per minute per gram of carbon?  
[Assume that living matter on the earth had an initial activity of 15.3 counts per minute per gram of carbon.  The half-life of carbon-14 is 5560 years.]
9)  When two atoms of 12H are fused to form one atom of 24He, the total energy evolved is 

      3.83 x 10-12 J.  What is the total change in mass for this reaction?
10) The mass of a proton is 1.00728 amu and the mass of a neutron is 1.00867 amu.  The mass of a 60Ni nucleus is 59.9308 amu  and the speed of light is 3 x 108 m/sec.  Calculate the binding energy per nucleon for 6028Ni.
11)  Why can’t  F2 be directly added to an Alkane in an addition reaction?
12)  Name the following compound.    
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13)  Name the following compound
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14)  Name the following compound.
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15) Draw the structural formula for Ortho-dibromobenzene.

16) Draw the structural formula for 1,3 hexadiene

17) Draw the CONDENSED structural formula for Propanal.
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